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CURVE TRACING

Illustrations

1. Find derivative of 

Watch Video Solution

y = x − sin x

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_wlJispvTw3PJ


2. Find the derivative of 

Watch Video Solution

y = 2 cos x + sin 2x

3. Draw the graph of 

Watch Video Solution

y = sin x cos2 x

4. Draw the graph of

Watch Video Solution

f(x) = x cos x − sin x, x ∈ [ − 3π, 3π]

https://dl.doubtnut.com/l/_1h8tsFPW6rDH
https://dl.doubtnut.com/l/_EsiBAzJiMcqP
https://dl.doubtnut.com/l/_domte4LCVhzo


5. Draw the graph of the function

.

Watch Video Solution

f(x) = x − √x

6. Draw the graph of y=

Watch Video Solution

x2

√x + 1

7. Draw the graph of x2 / 3y2 / 3 = 1

https://dl.doubtnut.com/l/_domte4LCVhzo
https://dl.doubtnut.com/l/_5UQPTAGl7h85
https://dl.doubtnut.com/l/_XENub6wGA8Ma
https://dl.doubtnut.com/l/_NTlHvwkRqIak


Watch Video Solution

8. Draw the graph of

Watch Video Solution

y = (x + 1)2 / 3 + (x − 1)2 / 3

9. Find the derivative of 

Watch Video Solution

y = ex + e − 2x

https://dl.doubtnut.com/l/_NTlHvwkRqIak
https://dl.doubtnut.com/l/_iUf2heoxwe22
https://dl.doubtnut.com/l/_wol6Aw9l8CNm


10. Draw the graph of . Find the range

of the function. Also find the point of

inflection.

Watch Video Solution

y = xex

11. Draw the graph of  


i) Find the point of maxima/minima. 

ii) Find the asymptote is any. 

iii) Find the range of the function. 

f(x) = x2e − |x |

https://dl.doubtnut.com/l/_wEiyghBj0hj3
https://dl.doubtnut.com/l/_WQNDqhjBANvF


iv) Find the number of roots of the equation

Watch Video Solution

f(x) = 1

12. Find the minimum integral value of k for

which the equation  has exactly

three real distinct solutions.

Watch Video Solution

ex = kx2

https://dl.doubtnut.com/l/_WQNDqhjBANvF
https://dl.doubtnut.com/l/_CclwCwkKybJe


13. Draw the graph of the function

Watch Video Solution

f(x) = ( )
x1

x

14. Draw the graph of the function:

Watch Video Solution

f(x) = − |x − 1|
1
2

https://dl.doubtnut.com/l/_rHgsTZ6WjYN0
https://dl.doubtnut.com/l/_xL0srtPTxmxp


15. Discuss the number of roots of the

equation 
 for different

value of 

Watch Video Solution

e(k − x log x) = 1

k.

16. Draw the graph of .

Watch Video Solution

y = x +
1

x

https://dl.doubtnut.com/l/_FPFb66ckSuqX
https://dl.doubtnut.com/l/_syjlhy9EFiPX


17. Draw the graph of .

Find the point of inflection.

Watch Video Solution

f(x) = ln(1 − ln x)

18. Draw the graph of the function

Watch Video Solution

f(x) = 2x2 − loge|x|

19. Draw the graph of .y = |loge(x + 3)|

https://dl.doubtnut.com/l/_R6KPYCekPVfA
https://dl.doubtnut.com/l/_6c75W3K0KQ8o
https://dl.doubtnut.com/l/_p9SVgo9F5utc


Watch Video Solution

20. Draw the graph of 

Watch Video Solution

f(x) = √1 − e − x2

21. Draw the graph of the relation

Watch Video Solution

y2 = x2(1 − x)

https://dl.doubtnut.com/l/_p9SVgo9F5utc
https://dl.doubtnut.com/l/_aAOtdVnkVoDm
https://dl.doubtnut.com/l/_GlIY54bog2Nh


22. Draw the graph of the relation

Watch Video Solution

4y2 = x2(4 − x2)

23. Draw the graph of the relation

View Text Solution

(y − x)2 = x3

24. Draw the graph of y = x3 / 5

https://dl.doubtnut.com/l/_5qQFmfX0aE2n
https://dl.doubtnut.com/l/_g22vjmcBCS7s
https://dl.doubtnut.com/l/_86US3U6kUtHn


View Text Solution

25. Draw the graph of 

View Text Solution

y = x2 / 5

26. Draw and discuss the graph of

Watch Video Solution

f(x) = x2 / 3 − x4 / 3

https://dl.doubtnut.com/l/_86US3U6kUtHn
https://dl.doubtnut.com/l/_cixHsPvAHeYE
https://dl.doubtnut.com/l/_AvyhfmgHnB49


27. Draw the graph of .

Watch Video Solution

f(x) = x|x|

28. Draw the graph of the relation

Watch Video Solution

y2 = x2(1 − x)

29. Draw the graph of .

Watch Video Solution

y = √
1 − x

1 + x

https://dl.doubtnut.com/l/_nVEX269wumy9
https://dl.doubtnut.com/l/_yCo7ZMsH264J
https://dl.doubtnut.com/l/_gU8n9VOhKbM4


Exercises

1. Find the derivative of 

Watch Video Solution

y = sin2 x − cos x

2. Draw and discuss the graph of

View Text Solution

f(x) = x + √x − 1

https://dl.doubtnut.com/l/_gU8n9VOhKbM4
https://dl.doubtnut.com/l/_P56HK4Wv5Zwi
https://dl.doubtnut.com/l/_1Jx3xi6gFSYW
https://dl.doubtnut.com/l/_Ybpxs7f2YRRo


3. Draw the graph of 

Watch Video Solution

y = √1 + x2 − x

4. Draw the graph of 

Watch Video Solution

y = − √6 − 3x2

5. Draw the graph of 

Watch Video Solution

y =
√x

x − 1

https://dl.doubtnut.com/l/_Ybpxs7f2YRRo
https://dl.doubtnut.com/l/_ouYehpLWoH8E
https://dl.doubtnut.com/l/_EhLvvKRfDPxH


6. Draw the graph of .

Watch Video Solution

y = x +
1

x

7. Draw the graph of .

Watch Video Solution

y = √
1 − x

1 + x

8. Draw the graph of 

Watch Video Solution

√|x| + √|y| = 1

https://dl.doubtnut.com/l/_BZjf6EcDN7na
https://dl.doubtnut.com/l/_SHdNCjvr9r1k
https://dl.doubtnut.com/l/_x7PcukgtbknW


9. Draw the graph of 

Watch Video Solution

y = √1 + x2 − x

10. Draw and discuss the graph of the function

Watch Video Solution

f(x) = e1 / x

11. Draw the graph of 

Watch Video Solution

y =
1

loge x

https://dl.doubtnut.com/l/_FjHIjDDt1NsP
https://dl.doubtnut.com/l/_REBNQGpMZUnm
https://dl.doubtnut.com/l/_lG9E1q66HL6B


12. Draw the graph of 

Watch Video Solution

y =
1

loge x

13. Draw the graph of . Discuss

the concavity of the graph.

Watch Video Solution

f(x) = e − x2

https://dl.doubtnut.com/l/_lG9E1q66HL6B
https://dl.doubtnut.com/l/_AkypvJ991goa
https://dl.doubtnut.com/l/_jkiGChSY3KM9


14. Draw the graph of . Also

find the point of inflection.

Watch Video Solution

f(x) =
ex

1 + ex

15. Draw the graph of the function 

Watch Video Solution

f(x) = xx

16. Draw the graph of 

Watch Video Solution

y = x /ln x

https://dl.doubtnut.com/l/_sxhtPVrBPiKp
https://dl.doubtnut.com/l/_KPkH0YeBx5BT
https://dl.doubtnut.com/l/_4ROyZQZWyLYK


17. Draw the graph of 

Watch Video Solution

y = (loge x)2

18. Draw the graph of 

Watch Video Solution

y = loge(x2 − 1)

19. Draw and graph of . Also

find the range.

f(x) =
4 loge x

x2

https://dl.doubtnut.com/l/_4ROyZQZWyLYK
https://dl.doubtnut.com/l/_w6XcviKTH62z
https://dl.doubtnut.com/l/_hxwlMaDOUhey
https://dl.doubtnut.com/l/_JFwMiRhBJ23Q


Watch Video Solution

20. Draw the graph of the relation

Watch Video Solution

y2 = x2(1 − x)

21. Draw the graph of  and

discuss the type of non-differentiability for the

function. Also find the point of inflection.

View Text Solution

f(x) = 2x + 3x2 / 3

https://dl.doubtnut.com/l/_JFwMiRhBJ23Q
https://dl.doubtnut.com/l/_g7nHgkLS8lnn
https://dl.doubtnut.com/l/_YXjfO33jbkLq


22. The function 
 has two

inflection points,
 has one point of extremum,

is non-differentiable,
 has range

Watch Video Solution

f(x) = x (x − 1)
1
3

[ − 3 ⋅ 2− , ∞)
8
3

23. Draw the graph of .

Watch Video Solution

y =
ex − e − x

2

https://dl.doubtnut.com/l/_YXjfO33jbkLq
https://dl.doubtnut.com/l/_bDMWaBimefot
https://dl.doubtnut.com/l/_UlOG2A4kQl5B
https://dl.doubtnut.com/l/_qcooAF2f7ipS


24. Draw the graph of .

Watch Video Solution

y = |loge(x + 3)|

https://dl.doubtnut.com/l/_qcooAF2f7ipS

